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Answer all the questions. _
In each of questions 1 to 40, pick one of the alternatives 1, 2, 3 or 4 which is correct
or most appropriate and mark vour response on the answer sheet provided.

1} Which one of the following does not contain infarmation? AU
1. Weather 15}301!. 2. Time table
3. Price list displayed in a super market 4, Unlabelled chart

2) Third generation computers were based on _
1. Vacuum tube 2. Transistors 3. Integrated Circuits 4. Microprocessors

3) The most general term used to describe the physical components of a computer is
1. Software . 2. Hardware 3. Firmware . 4. Liveware

4) Consider the following statements.
(A) Light pen is a pomtmg device
(B) Web cam is an imaging and video input device.
(C) Flash drive is an input device
Which of the above is / are true?

1. (A) only 2. (B) only 3.(A)and B)only 4. All(A), (B) and (C)

5) The main purpose of uamg an Unmterrupt'ble Powcr Supply ina computer syqtem isto
' 1. Provide backup power in the case of a main power failure
2. Protect the computer system from lightning
3. Provide (Direct Current) DC power to the computer circuitry
4. Charge the internal batterv of the computer

6) The units used to measure 'coinputer speed are g x :
1. MB and GB 2, MHzand GHz - 3.ms" and Kmh! 4. None of these

7} What is the topology of the computer network shown in the following diagram?
1. Bus © 2. Star 3. Ring rak 4. Mesh

8) How many bits are there in a TB? . e panAT
1.2¢ 2.2 : 3.2 4, None of these
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9) Which of the following has the highest vahie? _
1. 98719 . 2.1100110011, 3.977 4. AAAqs

10) The octal equivalent of ABCDyg is
1.1257514 2. 1257154 3. 1275154 4. None of these

11) The decimal equivalent of CDEF)s is :
1.52917 2.52719 3.52179 4, None of these

12) If the character ‘H’ is represented in ASCIT as 1001000, then the character “7° woltld be
represenied as '

1. 1100001 2. 1011010 3.1100100 - | 4. 1100101

13) Which of the following statements are true?
(A)8b=1B |
(B} 4b = INibble
{C) 1B =2Nibbles

(D) 1TB < 1PB
1. (A) and (C) 2.(A) and (D) 3. (B)and (C) 4. All (A), (B), (C) and (D)

14) In Microsoft Word, which of the following keyboard shorteuts are used to Copy and Paste
e | SO0 i e ]
1. Ctrl+ C and Ctrl + P 2.Ctrl + A and Ctrl + P
3.Ctrl + C and Ctrl + X ' 4.Cul+Cand Ctrl +V

15} Consider the following staterents,
(A) Capacity (Register Memory < Cash Memory)
(B) Data access speed (Register Memory < Cash Memory)
(C) Cost per unit storage (Register Memory < Cash Memory) -
Which one of the following is true? '
. {A) only
. (B) only

- (C) only

Wi PR ol P i
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The ilowing Pseudocode is used for entering 5 numbers and to caicuiate and dispiay the total.,
Use the pseudocods for answering the questions 16 - 13, '
S ——
count=}
Repeat
Input num
Statement?2
count=couni+j
Statement3
Print total
End
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16) What is statement1? o
1. total=1 2. total=0 3. total=5 4. None of these
17) What is statement2? ;
1. totak=totai+num 2. total=totai+3 3. toi=wwmirount 4. Nons o thcse
18) What is statement3? _ _
I. Until count=3 2. Until count<5 "~ 3.Untl count>s 4. None of these

19) Out of the following which memory contains the manufacturer’s details of the mother hoard?
1. RAM - 2.ROM 3. Data traveler 4. Hard disk

20) This machine can create digitalized images of internal organs of the ody by using strong magnetic
fields and radio waves. 4 -
1. ECG 2.BEG ;. ... 3. MRI " 4,CAT

21) Who is considered as the first computer programmer in the world?
1. Ada Augusta {.ovelace
2. Howard Aiken
3. Charles Babbage
4. Joseph Jacquard

22) A student prepares a report and saves into a permanent storage device (device 1) inside the computer.
He then copies the report to a portable storage device (device 2) to be given to a friend. Which of the
following is most appropriate to represent device 1 and device 2 respectively?

. Main memory and Flash memory :

. Hard Disk and Compact Disk

. Main Memory and Compact Disk

. Hard Disk and Main memory

SO P e

23) A person has taken a photograph using a digital camera. Subsequently he shows the photograph to
- one of his friends using the display of the camera. In this scenario, the camera serves as a / an '
i. Input device only
2. Qutput device only
-3. Communication device only
4. Both Input and Output device

24) To qualify in an examination, candidates have to pass one compulsory subject S1 and one of the
three optional subjects 2, $3 and $4. Which of the following Boolean expression cortectly
represents this scenario?

1. S1 AND (S2 AND S3 AND $4)
2. S1 AND (S2 OR S3 OR 84)

3. S1 OR (82 AND 83 AND $4)
4. S1 OR (S2 OR S3 OR $4)
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25) Consider the following statements.
(A} A student obiains medical advice fom a doctor by coutacimg him over the telephone
(B) An automated system, based on the humidity and temperature release water to plants in 2
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Which of the above use the ICT effectively?
I. (A) and (B) only
2. (A) and (C) only
3. (B) and (C) only

4. All (A), (B) and (C)

26) Consider the following statements,
(A) Optical Fiber cables provide faster data transfer rates than that of copper cables
(B) Copper cables provide faster data transfer rates than that of Optical Fiber cables
(C) Copper cables are more expensive than Optical Fiber cables '
Which of the above is / are correct?
1. (A) only
2. (B) only
3. (A) and (C) only
4. (B) and (C) only

27) A salesman who usually travels by motorcycie needs to use (carry) ‘g computer to record the sales
orders he takes from the shops he visits. Which of the following is / are suitable for this purpose?
{(A) Super Computer
(B) Palmtop Computer
() Mainframe Computer
1. (A) only
2. (B) only
3. Both (A) and (B)

4. Boih (B) and (C)

28) Which of the following identifier is valid in Pascal?

1. Basic_Salary 2. Basic+Salary 3. $Basic_Salary 4. Basic%Salary
29) In Pascal 1001 mod 999 equals to

1. 30 2.333 3,2 4.1
30) In Pascal the variables are declared under the .......... section of the pmgram.

- 1. Var 2. Dim 3. Variant 4, None of these

31) Which of the following statements are true about HTML tags?
(A) HTML tags are surrounded by the two characters < and >
(B) HTML tags are not case sensitive
(C) HTML tags tell the web browser how to display the web page on the computer screen’
L. (A) only 2.(A)and (B)only 3.(A), (B), {C) all 4. None of the above
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32) In Mierosoft Office Excel 2010, Shift + Tab shortcut key is used for
1. Move to the beginning of the row
2. Move to the beginning of the workshest
3. Move one cell to the left
4. None of the above

33) In Microsoft Office Excel 2010, by default values are
1. left aligned
2. right aligned
3. justified
4. None of the above

34) In Microsoit Office Excel 2010, the result of the equation =(2"2-2%¥2+2/232)/(2/(+2/2) is
4 .

. 0.4

.44
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35) What is the output of the following HTML code segment?
<dI> ' - _
- <dCoffee</dt>
<dd>Black hot drink</dd>
<di>Milk</dt>
<dd>White cold drink</dd>
</dl>

1. Coffee Black hot drink
Milk White cold drink

fge]

. Coffee
Black hot drink
kA~

LYREELS

White cold drink

3. Coffee
Black ot drink

Wiiie coid diik

4. None of the above

36) CoffeeCup and Eclipse are
1. Programming Languages
2. HTML Editors
3. Video Editing Software
4. None of the above
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37) Which of the following statement(s) is/are true?

(A)Bluegriffon is an Open Source Web Authoring Tool
(B‘l Adobe Dream Viewer iz o Pu-rsimemn Web Authorin
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1. (A) only | _
2. (B) only ¥ : T
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38) Which of the following statement(q) isfare true?
(A)If the content of a website is maintained without any change over a period of t ue,
such a website is called a static website.
{B)1 3 I the web content is offen cnangea such a website is called a dynamic website
1. (A} only
2. (B) only
3. Both (A) and (B)
4. None of the above

i

39 Joomla and Drupal are
1. Progranmining Languages
2. Open Source CMS Software
3. Video Editing Software
4. None of the above

4@) These are some of the responsibilities of a Web Editor.
. Designs interfaces of the website

. Writes codes, checks errors and rectifies those

. Fulfils meintenance tasks related 1o the web server and daiabase
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Answer five questions only, including first question and four other questions.'

QUESTION # 1 (2 Marks X 10 = 20 Marks}

- O ARA BTl
ronces hetween RAM and ROM.

ﬁ

1 %l
i e-l_"\anni'llunu ol o P
he rerms DS and ORI stand o1

2 b =
-
E
e
(< 1

erte two examples for language translators.

VWhat is the hexadecimai equivaient of the octai value 456757
Write two services provided by LMS for the school management,
Write two names of Free and Open Source Electronic Spreadsheet Software.

Write two characteristics in LCD when comparing monitors designed using CHT.

Write two special features that the USB port possesses comparing with the other ports.
Database is a file made of various internal objects. Name two internal objects in a database.
10. Write two reasons why a dot matrix printer is not suitable to be uséd in an operation theatre.

N o

© ™

- QUESTION # 2 (10 Marks} -
PART [A) - {1 Marks X 4 = 4 Marks}
The following diagram represents and abstract view of a computer system,

e

e
Application
Software

1. Name the layer Iabeled as X
2. Write one function for the layer labeled as X.
3. Write one function for the layer labeled as Hardware.
4. Provide an example for the layer labeled as Application software.

PART {B) - (2 Marks X 3 = 6 Marks)

1. What are the four types of Operating Systems?

2. Vhat are the four components used by GU! Operating Systems?

3. Write down four different names of utility programs in an Operating System?

fimn
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QUESTION # 3 (10 Marks)

(2 Marks X 5 = 10 Marks)

The following three tables are a part of a schooi management information system that stores details
of teachers and their subjects. One teacher may teach more than one subject and one subject may
be taught by miore than one teacher. ' -

Teachers " Subjects ' Teacher_Subject
TeacheriD Name SubjectCede | SubjectName SubjectCode TeacherlD
1111 Saman Silva Eng10 English Engl0 1111
2222 Mailika Perera Sin09 Sinhala | Sin09 2222 -

: ‘Scil0 Science " Sci1o . 1111
S5cilo 2222

1. Briefly explain the purpose of a primary key.
. List two primary keys together with their corresponding table names.

3. Write two disadvantages that would occur if a single table is used instead of three tables for
storing the data. '

4. Assume that in the library of your school the borrowing and returning of books are recorded
manually. List two advantages of automating the current manual system into a computerized
system, G mE R AT =AL3.

- o Write two names of Free and Opens Source Database Management Sofiware. -

)

QUESTION # 4 (1 Marks X 10 = 10 Marks)

1. What are the two parts of the computer file?

Z. Write the extensions of a PowerPoint Presentation and PowerPoint Show separately?

- Write down two names of Eree and Open Source Word Processing Software.

. What are the shortcut keys for performing the following tasks in Microsoft Office Word?

Task Shortcut Key
glect the whole document

Replace words

LW s

=T VS I

Bt [l

5. Check whether the following characteristics of a good quality presentation are true or false.
Characieristics True / Faise '
1 | Number of lines per slide are 10 ta 12
2 | Font size at 32 points or more

Wirife Aot feen mecane af Tean Snsiinen Saera tlaeteamie sannn Lana: Lt tiasme—
SERIRS AT LY rnmi il R Te= S T LSRR Rt i TEREEA B N el e wet LIl s WSS M TTTOE was

- WhTE town Two Views in Wi iCrosoft Office PowerPoint.
- Write down two Slide Layout Templates in Microsoft Office PowerPoint. _

. Wr_hat are the shortcut keys for performing the following tasks in Microsoft Office PowerPoint?
Task Shortcut Key
1 | Creating a new PowerPoint Presentation
2 | Inserting a new slide

O 06 1R

10. Write down two different objects that you can insert in Microsoft Office FowerPcint Slides.
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QUESTION # 5 (10 Marks)

PART (A) - (1 Marks X S = 5 Marks) :

A Health Science teacher needs a computer program to identify the underweight students in her
class. The class consists of 40 students, The underweight students are identified using their Body

3 /‘/A:i'ifpta't na’:nc,'i'f‘él'ghi, héigh}/;

Y e o gﬁ{, ot samgad. e

{

I

179587

Yes / Printname, “You are
' /- underweighe” =5
:

G/ Print name, “You are no_7

T

/. underweight™

!

H ! Count = Cpuﬁt+1 i
Yes L Is \\"\,)

i e Coitni <= 407

Faberes

R e
s —r( STOP |

Use the above flow chart to answer the following questions.

. Write down the input(s} of the flow chart.

. Write down one possible output of the flow chart,

. Write the condition of the iteration, _

Write the statement that helps to terminate the iteration.

List the label{s) that is/are executed within the selection control structure,

f.n:hwh.:a-—a
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PART (B) - (2 Marks)

Wirite the Pseuds Code for antering m

RPN BRI O LT T T

ing ey grade 2cco ‘ﬁ‘i!‘:g. io the
following criteria. :
Wiarks Graﬁ‘é =
S il melg o it 3
Ay & I\ﬁ-\rba - Kf\ Cipensuliom Dheyee
L ¥ e JIHIIPIE LI = -~
Else 7 Fail
PART [C) - {3 Marks) :
Write a program in pascal for entermg ICT marks of 100 students into an array called ICT.
QUESTION # 6 {10 Marks)
PART [A) - {1 Marks X 4 = 4 Marks}
The following worksheet shows the sales at a school canteen within a week.
= o - S : >
Buying Price | Selling Price | Number of ;

: jfsn per unit {Rs] | per unit {fs} items sold ncame (hs) PIOTELE)

2 | Tea Bun 35 100

3 | Egg Roli 40 150

& Pam:ake---- : .3{} 39 I i 00 -

5 | Chocolate Bar 25 _ 75

] Total Profit (Rs)

S

1. What is the formula that should be written in the cell C2, if the selling price per unit is 50%
IUI‘TI l‘.-l Inhail tli 3 UM IP"’" P}rice?
- e VINg |

2. What is the formula that should be written in cell E2 to get the income for Tea buns?

3. What is the formula that should be writien in cell FZ to get the profit for Tea buns?
4, What is the formula that should be written in cell 6 to get the Total Profit?

PART {B) - (1 Marks X 6 = 6 Marks})
Match the two coiumns A and B in the following table.

Column A | Column B _
1 | Ctrl+End P | Made up of a multitude of cells made by columns and rows
oh a two dimensional plane
2 | Name box Q | Free & Open Source Software
3 | OpenOffice Caic R | The address of the active cell is displayed
4 | Workbook S | Moves to bottom right cell of the-data range—-
5 | Worksheet T | Collection of workshsets
| 6 | Ctrl+Home U | Moves the cell to Al position
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QUESTION # 7 (10 Marks)
PART {A) - {5 Marks)
Draw the output of the foliowing HTML code segment?

/ﬂ--\ln.lgs L\ﬂl"f’lﬁb"-—"" "\
SLEIMIT LA L

<’rr>

<C1>\_,0wnn 1<;tn>€m>i.olumn z<ltn><tn>umumn :5€IIH>
<ftr>

<tr>

L L O o RSP |
“‘-l.u IUIHI'DEJGIII-' 4 II\UUV afla

<td>Row 1 Cell 2</td>

<td>Row 1 Celi 3</td>

<fir>

<tr><td>Row 2 Cell 2</td><td>Row 2 Cell 3</td></tr>
<tr><td colspan="3">Row 3 Cell 1</td></ftr>

</ftable>

PART (B} - {1 Marks X 5 = 5 Marks)
Match the two columns A and B in the following table.

Column A _ Column 8

1. | File Transfer Protocol P | Language used for documents in the WWW |
2 | HTML Q | Seamonkey Composer

3 | Open Source CMS seftware R | Kompozer

4 | HTML editor S | Wordpress

5 | Open Source web authoring tool T | Filezilla

ot




